March 2021

## **OVERTIME WEEK ENDING**

03/06/2021

may 2021 Bosmelting

DATE	NAME	DIVISION	Printed 4/6/2021  Assignment Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
3/1/21	BAROWN	ADMIN	ADMIN DUTIES	\$49.8662	1.5	\$74.7993	\$112.1990	03/06/2021
3/2/21	BAROWN	ADMIN	ADMIN DUTIES	\$49.8662	3.5	\$74.7993	\$261.7976	03/06/2021
3/2/21	D'AUTORIO	PATROL	21-6518 / 21-6524 ARREST	\$45.2840	1	\$67.9260	\$67.9260	03/06/2021
3/4/21	D'AUTORIO	PATROL	PATROL - DAYS	\$45.2840	8	\$67.9260	\$543.4080	03/06/2021
3/4/21	FAY	PATROL	21-6802 NEIGHBOR DISPUTE	\$32.9194	.50	\$49.3791	\$24.6896	03/06/2021
3/1/21	GUIDA	PATROL	PATROL - MIDS	\$36.2602	8	\$54.3903	\$435.1224	03/06/2021
3/2/21	KISIEL	PATROL	PATROL - MIDS	\$30.5879	8	\$45.8819	\$367.0548	03/06/2021
3/2/21	KISIEL	PATROL	PATROL - DAYS	\$30.5879	8.5	\$45.8819	\$389.9957	03/06/2021
3/2/21	KRZANOWSKI	PATROL	PATROL - DAYS	\$45.2840	8.5	\$67.9260	\$577.3710	03/06/2021
3/3/21	KRZANOWSKI	PATROL	PATROL - DAYS	\$45.2840	8.5	\$67.9260	\$577.3710	03/06/2021
3/4/21	KRZANOWSKI	PATROL	PATROL - DAYS	\$45.2840	8.5	\$67.9260	\$577.3710	03/06/2021
3/2/21	LOUCKS	PATROL	21-6524 ARREST	\$36.2602	1.5	\$54.3903	\$81.5855	03/06/2021
3/3/21	MAIGA	PATROL	PATROL - DAYS	\$40.8202	8.5	\$61.2303	\$520.4576	03/06/2021
3/2/21	MISKO	PATROL	21-6528 FVO ARREST/ 21-6524 BURG ARREST	\$32.9194	4	\$49.3791	\$197.5164	03/06/2021
3/2/21	ROULEAU	SUPPORT	ADMIN DUTIES	\$45.2840	1	\$67.9260	\$67.9260	03/06/2021
3/4/21	ROULEAU	SUPPORT	PATROL - MIDS	\$45.2840	8	\$67.9260	\$543.4080	03/06/2021
3/3/21	SULTAIRE	PATROL	PATROL - DAYS	\$40.8202	8.5	\$61.2303	\$520.4576	03/06/2021
3/1/21	WITYAK	SUPPORT	21-5286 BACKGROUND INVEST.	\$40.8202	2	\$61.2303	\$122.4606	03/06/2021
3/4/21	CONNOLLY	PATROL	PATROL - DAYS	\$36.2602	4	\$54.3903	\$217.5612	03/06/2021
3/4/21	LETTIERI	PATROL	PATROL - DAYS	\$36.2602	3.5	\$54.3903	\$190.3661	03/06/2021
3/3/21	BAROWN	ADMIN	ADMIN DUTIES	\$49.8662	3.5	\$74.7993	\$261.7976	03/06/2021
3/5/21	BAROWN	TRAINING	LESS LETHAL TRAINING	\$49.8662	8	\$74.7993	\$598.3944	03/06/2021
3/5/21	BROUILLARD	TRAINING	W HTFD RECERT ON RDO	\$40.8202	8	\$61.2303	\$489.8424	03/06/2021
3/4/21	CURTIN	PATROL	PATROL - DAYS	\$32.9194	8	\$49.3791	\$395.0328	03/06/2021
3/5/21	FAY	PATROL	PATROL - DAYS	\$32.9194	8	\$49.3791	\$395.0328	03/06/2021
3/3/21	FOX	TRAINING	W HTFD TRAINING ON RDO	\$36.2602	8	\$54.3903	\$435.1224	03/06/2021
3/4/21	FOX	TRAINING	W HTFD TRAINING ON RDO 4/6/2021 11:14 AM RECEIVED FOR RECORD	\$36.2602	8	\$54.3903	\$435.1224	03/06/2021
3/5/21	GIORDANO	TRAINING	W HTFD TRAINING TORRINGTON TOWN CLERK\	\$40.8202	8	\$61.2303	\$489.8424	03/06/2021

-	/ PT PT TT 1 PT		VEEL.	ENIDING	•
	/ 11	$M \vdash M$		ENDING	_
	/ [ ] [ ] [	VII V			-

03/06/2021

			Printed 4/6/2021					
DATE	NAME	DIVISION		RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
3/6/21	KRZANOWSKI	PATROL	PATROL - DAYS	\$45.2840	8.5	\$67.9260	\$577.3710	03/06/2021
3/4/21	LOUCKS	TRAINING	K-9 INSERVICE TRNG	\$36.2602	8	\$54.3903	\$435.1224	03/06/2021
3/5/21	ROULEAU	PATROL	PATROL - EVES	\$45.2840	8.5	\$67.9260	\$577.3710	03/06/2021
3/5/21	SIMON	PATROL	PAL WINTER CARNIVAL	\$36.2602	4.5	\$54.3903	\$244.7564	03/06/2021
3/5/21	SIMPSON	PATROL	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	03/06/2021
3/6/21	SEGUI	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	03/06/2021
3/6/21	TOLEDO	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	03/06/2021
3/4/21	WITYAK	SUPPORT	ADMIN DUTIES	\$40.8202	2	\$61.2303	\$122.4606	03/06/2021
3/4/21	WITYAK	SUPPORT	BACKGROUND INVESTIGATION	\$40.8202	1	\$61.2303	\$61.2303	03/06/2021
3/5/21	WITYAK	SUPPORT	FOI DUTIES	\$40.8202	6.5	\$61.2303	\$397.9970	03/06/2021
3/6/21	DELOY	FINANCIAL	COMPREHENSIVE DUI GRANT	\$36.2602	6	\$54.3903	\$326.3418	03/06/2021
3/5/21	GUIDA	FINANCIAL	COMPREHENSIVE DUI GRANT	\$36.2602	6	\$54.3903	\$326.3418	03/06/2021
3/5/21	KELLY	FINANCIAL	COMMUNITY OUTREACH GRANT	\$40.8202	3	\$61.2303	\$183.6909	03/06/2021
3/5/21	D'AUTORIO	PATROL	PATROL - DAYS	\$45.2840	8	\$67.9260	\$543.4080	03/06/2021
3/3/21	GONZALEZ	ADMIN	ADMIN DUTIES	\$49.8662	4	\$74.7993	\$299.1972	03/06/2021
3/1/21	ROULEAU	SUPPORT	ADMIN DUTIES	\$45.2840	1.5	\$67.9260	\$101.8890	03/06/2021
3/3/21	ROULEAU	SUPPORT	FOI DUTIES	\$45.2840	.5	\$67.9260	\$33.9630	03/06/2021
3/3/21	BARANOWSKI	DETECTIVE	SNTF	\$36.2602	5.5	\$54.3903	\$299.1467	03/06/2021
3/9/21	KELLY	PATROL	PATROL - DAYS	\$40.8202	1	\$61.2303	\$61.2303	03/13/2021
3/9/21	KRZANOWSKI	PATROL	PATROL - DAYS	\$45.2840	8.5	\$67.9260	\$577.3710	03/13/2021
3/8/21	ABALAN	PATROL	PATROL - DAYS	\$33.9077	8	\$50.8616	\$406.8924	03/13/2021
3/8/21	DELOY	PATROL	21-7318 DISTURBANCE	\$36.2602	2	\$54.3903	\$108.7806	03/13/2021
3/8/21	KRZANOWSKI	PATROL	PATROL - DAYS	\$45.2840	8.5	\$67.9260	\$577.3710	03/13/2021
3/7/21	GUIDA	PATROL	20-36840 ARREST	\$36.2602	.50	\$54.3903	\$27.1952	03/13/2021
3/7/21	GONZALEZ	PATROL	PATROL - MIDS	\$49.8662	8.5	\$74.7993	\$635.7941	03/13/2021
3/7/21	ROULEAU	PATROL	PATROL - DAYS	\$45.2840	8.5	\$67.9260	\$577.3710	03/13/2021
3/7/21	DINUNZIO	PATROL	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	03/13/2021
3/10/21	LOUCKS	PATROL	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	03/13/2021

OVEDI	CIBAC	VALEETA	ENIDING	-
OVER		WEEK	ENDING	3

03/13/2021

DATE	NAME	DIVISION	I Assignment	Printed 4/6/2021 Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
3/10/21	BERNABUCCI	PATROL	PATROL - MIDS		\$40.8202	8	\$61.2303	\$489.8424	03/13/2021
3/11/21	JOHNSON B	PATROL	PATROL - MIDS		\$45.2840	8.5	\$67.9260	\$577.3710	03/13/2021
3/10/21	RICHARD	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	03/13/2021
3/10/21	DAVIES	PATROL	FVO CASE 21-7536	, 7542, 7543, 7567	\$36.2602	.50	\$54.3903	\$27.1952	03/13/2021
3/10/21	FAY	PATROL	21-7484 ARREST/P	RISONER WATCH	\$32.9194	5	\$49.3791	\$246.8955	03/13/2021
3/11/21	D'AUTORIO	TRAINING	INSTRUCTOR TASI	ER 7 TRANSITION COURSE	\$45.2840	8	\$67.9260	\$543.4080	03/13/2021
3/9/21	D'AUTORIO	TRAINING	INSTRUCTOR TASI	ER 7 TRANSITION COURSE	\$45.2840	7	\$67.9260	\$475.4820	03/13/2021
3/10/21	BLASIAK	TRAINING	TASER TRAINING		\$36.2602	8	\$54.3903	\$435.1224	03/13/2021
3/10/21	SOUTHARD	TRAINING	TASER 7 TRAINING	ON RDO	\$40.8202	8.5	\$61.2303	\$520.4576	03/13/20201
3/10/21	BALDIS	TRAINING	RECERT FOR INTO	X EVE SHIFT	\$40.8202	4.5	\$61.2303	\$275.5364	03/13/2021
3/11/21	GELORMINO	DETECTIVE	= 21-5803/21-7366 CA	AIT INTERVIEW	\$38.1024	7	\$57.1536	\$400.0752	03/13/2021
3/11/21	ROULEAU	PATROL	PATROL - EVES		\$45.2840	8.5	\$67.9260	\$577.3710	03/13/2021
3/11/21	BALDIS	SUPPORT	STATE GRANT FOR	R CURVE SIGN AND	\$40.8202	4	\$61.2303	\$244.9212	03/13/2021
3/12/21	D'AUTORIO	PATROL	PATROL - MIDS		\$45.2840	8	\$67.9260	\$543.4080	03/13/2021
3/12/21	KRZANOWSKI	PATROL	PATROL - MIDS		\$45.2840	8.5	\$67.9260	\$577.3710	03/13/2021
3/10/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	4	\$74.7993	\$299.1972	03/13/2021
3/8/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	1.5	\$74.7993	\$112.1990	03/13/2021
3/10/21	ROULEAU	SUPPORT	FOI ADMIN DUTIES	•	\$45.2840	1	\$67.9260	\$67.9260	03/13/2021
3/11/21	DAVIES	PATROL	PATROL - DAYS / 2	1-7543 FVO CASE	\$36.2602	9	\$54.3903	\$489.5127	03/13/2021
3/11/21	CREAN	PATROL	PATROL - DAYS		\$38.1024	8.5	\$57.1536	\$485.8056	03/13/2021
3/11/21	KELLY	TRAINING	BODY CAM TRAINI	NG	\$40.8202	8	\$61.2303	\$489.8424	03/13/2021
3/11/21	MAIGA	PATROL	PATROL - DAYS		\$40.8202	8.5	\$61.2303	\$520.4576	03/13/2021
3/11/21	SULTAIRE	PATROL	PATROL - DAYS		\$40.8202	8.5	\$61.2303	\$520.4576	03/13/2021
3/8/21	ROULEAU	SUPPORT	ADMIN DUTIES		\$45.2840	1	\$67.9260	\$67.9260	03/13/2021
3/13/21	DINUNZIO	FINANCIAL	COMPREHENSIVE	DUI GRANT	\$36.2602	6	\$54.3903	\$326.3418	03/13/2021
3/12/21	SEGUI	FINANCIAL	COMPREHENSIVE	DUI PROGRAM	\$36.2602	5	\$54.3903	\$271.9515	03/13/2021
3/12/21	JOHNSON K	SERT	SERT TRAINING		\$38.1024	8	\$57.1536	\$457.2288	03/13/2021
3/12/21	ROULEAU	SERT	SERT TRAINING		\$45.2840	8	\$67.9260	\$543.4080	03/13/2021

<b>OVERTIME W</b>	EEK	END	ING
-------------------	-----	-----	-----

03/13/2021

DATE	NAME	DIVISION	I Assignment	Printed 4/6/2021 Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
3/12/21	BLASIAK	PATROL	21-7817 EVIDENCE	SEIZURE	\$36.2602	2	\$54.3903	\$108.7806	03/13/2021
3/9/21	CURTIN	PATROL	PATROL - DAYS		\$32.9194	7	\$49.3791	\$345.6537	03/13/2021
3/13/21	CURTIN	PATROL	21-7875 ASSAULT		\$32.9194	2.5	\$49.3791	\$123.4478	03/13/2021
3/12/21	D'AUTORIO	PATROL	PATROL - DAYS		\$45.2840	8	\$67.9260	\$543.4080	03/13/2021
3/9/21	DELOY	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	3/13/2021
3/10/21	DELOY	PATROL	PATROL - EVES		\$36.2602	8	\$54.3903	\$435.1224	3/13/2021
3/13/21	DELOY	PATROL	PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	3/13/2021
3/12/21	FAY	PATROL	PATROL - DAYS		\$32.9194	8	\$49.3791	\$395.0328	03/13/2021
3/13/21	FOX	PATROL	21-7973 ASSAULT		\$36.2602	1.5	\$54.3903	\$81.5855	03/13/2021
3/13/21	GELORMINO	PATROL	21-7875 INVESTIGA	TION	\$38.1024	1	\$57.1536	\$57.1536	03/13/2021
3/13/21	GUIDA	PATROL	21-7972 ARREST		\$36.2602	4	\$54.3903	\$217.5612	03/13/2021
3/13/21	KRZANOWSKI	PATROL	PATROL - DAYS		\$45.2840	8.5	\$67.9260	\$577.3710	03/13/2021
3/12/21	MAIGA	PATROL	PATROL - DAYS		\$40.8202	8.5	\$61.2303	\$520.4576	03/13/2021
3/13/21	OTIS	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	03/13/2021
3/12/21	SEGUI	PATROL	<b>20-8439 PRISONER</b>	PICKUP T NEW HAVE CC	\$36.2602	2.5	\$54.3903	\$135.9758	03/13/2021
3/13/21	SEGUI	PATROL	PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	03/13/2021
3/13/21	SEGUI	PATROL	21-7969 UNTIMELY		\$36.2602	2	\$54.3903	\$108.7806	03/13/2021
3/13/21	TIEMAN	DETECTIVE	21-7969 UNTIMELY	CALL OUT	\$38.1024	8	\$57.1536	\$457.2288	03/13/2021
3/8/21	WITYAK	SUPPORT	PREP FOR BODY C	AM TRAINING	\$40.8202	1	\$61.2303	\$61.2303	03/13/2021
3/10/21	WITYAK	SUPPORT	21-5286 BKGRND IN	IV/MTG WITH HR DIR.	\$40.8202	2	\$61.2303	\$122.4606	03/13/2021
3/13/21	DABLAIN	PATROL	PATROL - MIDS		\$38.1024	8.5	\$57.1536	\$485.8056	03/13/2021
3/10/21	SOUTHARD	TRAINING	TASER 7 TRAINING	ON RDO	\$40.8202	8.5	\$61.2303	\$520.4576	03/13/2021
3/16/21	LOUCKS	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	03/20/2021
3/15/21	D'AUTORIO	ADMIN	PATROL - DAYS		\$45.2840	8	\$67.9260	\$543.4080	03/20/2021
3/15/21	ABELING	TRAINING	WH TRAINING ON R	RDO	\$36.2602	8	\$54.3903	\$435.1224	03/20/2021
3/14/21	ROULEAU	PATROL	PATROL - DAYS		\$45.2840	8.5	\$67.9260	\$577.3710	03/20/2021
3/15/21	DINUNZIO	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	03/20/2021
3/14/21	FIFER	PATROL	PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	03/20/2021

<b>OVERTIME</b>	WEEK	<b>ENDING</b>
-----------------	------	---------------

03/20/2021

DATE	NAME	DIVISION	Assignment	Printed 4/6/2021 Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
3/17/21	DINUNZIO	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	03/20/2021
3/16/21	FAY	PATROL	PATROL - DAYS		\$32.9194	8	\$49.3791	\$395.0328	03/20/2021
3/17/21	SULTAIRE	PATROL	PATROL - DAYS		\$40.8202	8.5	\$61.2303	\$520.4576	03/20/2021
3/17/21	OTIS	PATROL	PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	03/20/2021
3/18/21	OTIS	PATROL	PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	03/20/2021
3/18/21	KRZANOWSKI	PATROL	PATROL - DAYS		\$45.2840	8.5	\$67.9260	\$577.3710	03/20/2021
3/17/21	ROULEAU	FINANCIAL	COMPREHENSIVE	DUI GRANT	\$45.2840	7	\$67.9260	\$475.4820	03/20/2021
3/17/21	BALDIS	FINANCIAL	COMPREHENSIVE	DUI GRANT	\$40.8202	8	\$61.2303	\$489.8424	03/20/2021
3/17/21	ROULEAU	SUPPORT	ADMIN DUTIES		\$45.2840	1	\$67.9260	\$67.9260	03/20/2021
3/16/21	WITYAK	SUPPORT	ADMIN DUTIES		\$40.8202	2.5	\$61.2303	\$153.0758	03/20/2021
3/16/21	ROULEAU	TRAINING	TRAINING ON HIRI	NG	\$45.2840	2	\$67.9260	\$135.8520	03/20/2021
3/15/21	ROULEAU	SUPPORT	GENERAL ORDER	REVIEW	\$45.2840	3	\$67.9260	\$203.7780	03/20/2021
3/15/21	WITYAK	SUPPORT	21-5286 BACKGRO	UND INVESTIGATION	\$40.8202	2	\$61.2303	\$122.4606	03/20/2021
3/15/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	2	\$74.7993	\$149.5986	03/20/2021
3/16/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	1	\$74.7993	\$74.7993	03/20/2021
3/17/21	BAROWN	ADMIN	ADMIN DUTIES		\$49.8662	4	\$74.7993	\$299.1972	03/20/2021
3/16/21	CURTIN	PATROL	PATROL - DAYS		\$32.9194	8	\$49.3791	\$395.0328	03/20/2021
3/18/21	DAVIES	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	03/20/2021
3/14/21	KRZANOWSKI	TRAINING	20-34339 BACKGR	OUND APPLICANT	\$45.2840	4.5	\$67.9260	\$305.6670	03/20/2021
3/15/21	TOLEDO	TRAINING	WHTFD INSERVICE	TRNG	\$36.2602	8	\$54.3903	\$435.1224	03/20/2021
3/16/21	LETTIERI	TRAINING	STATIONS DAY RE	CRUIT DOS SANTOS	\$36.2602	8.25	\$54.3903	\$448.7200	03/20/2021
3/19/21	KRZANOWSKI	PATROL	PATROL - DAYS		\$45.2840	8.5	\$67.9260	\$577.3710	3/20/2021
3/19/21	MAIGA	PATROL	PATROL - DAYS		\$40.8202	8.5	\$61.2303	\$520.4576	03/20/2021
3/19/21	DAVIES	PATROL	PATROL - DAYS		\$36.2602	8.5	\$54.3903	\$462.3176	03/20/2021
3/20/21	BARANOWSKI	DETECTIVE	SNTF		\$36.2602	4	\$54.3903	\$217.5612	03/20/2021
3/17/21	BARANOWSKI	DETECTIVE	SNTF		\$36.2602	6	\$54.3903	\$326.3418	03/20/2021
3/20/21	D'AUTORIO	PATROL	PATROL - DAYS		\$45.2840	8	\$67.9260	\$543.4080	03/20/2021
3/20/21	KISIEL	PATROL	PATROL - DAYS		\$30.5879	8	\$45.8819	\$367.0548	03/20/2021

OVERTIME V	NEEK	<b>ENDING</b>
------------	------	---------------

03/20/2021

arms of the same			Printed 4/6/2021					
DATE	NAME	DIVISION	Assignment Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
3/19/21	KRZANOWSKI	ADMIN	BACKGROUND INVESTIGATOIN	\$45.284	0 3.5	\$67.9260	\$237.7410	03/20/2021
3/20/21	ROULEAU	PATROL	PATROL - EVES	\$45.284	0 8.5	\$67.9260	\$577.3710	03/20/2021
3/15/21	SEGUI	TRAINING	WHTFD INSERVICE ON RDO	\$36.260	2 8.5	\$54.3903	\$462.3176	03/20/2021
3/19/21	SEGUI	PATROL	21-8638 INVESTIGATION	\$36.260	2 1.5	\$54.3903	\$81.5855	03/20/2021
3/20/21	SIMPSON	PATROL	PATROL - DAYS	\$36.260	2 8	\$54.3903	\$435.1224	03/20/2021
3/20/21	SOUTHARD	PATROL	PATROL - DAYS	\$40.820	2 8	\$61.2303	\$489.8424	03/20/2021
3/20/21	TOLEDO	PATROL	PATROL - DAYS	\$36.260	2 8	\$54.3903	\$435.1224	03/20/2021
3/20/21	GIORDANO	DETECTIVE	DET CALLOUT UNTIMELY ON RI	00 \$40.820	2 8	\$61.2303	\$489.8424	03/20/2021
3/20/21	DABLAIN	DETECTIVE	DET CALLOUT UNTIMELY ON RI	00 \$38.102	4 8	\$57.1536	\$457.2288	03/20/2021
3/19/21	MUMM	FINANCIAL	COMPREHENSIVE DUI GRANT	\$36.260	2 8	\$54.3903	\$435.1224	03/20/2021
3/22/21	BROUILLARD	DETECTIVE	21-8986 ASSAULT	\$40.820	2 2.5	\$61.2303	\$153.0758	03/27/2021
3/22/21	DABLAIN	DETECTIVE	21-8986 ASSAULT	\$38.102	4 5	\$57.1536	\$285.7680	03/27/2021
3/22/21	JOHNSON B	DETECTIVE	21-8986 ASSAULT	\$45.284	0 2.5	\$67.9260	\$169.8150	03/27/2021
3/22/21	MUMM	DETECTIVE	21-8986 ASSAULT	\$36.260	2 4	\$54.3903	\$217.5612	03/27/2021
3/22/21	TIEMAN	DETECTIVE	21-8986 ASSAULT	\$38.102	4 2	\$57.1536	\$114.3072	03/27/2021
3/22/21	DAVIES	DETECTIVE	21-8986 ASSAULT	\$36.260	2 3	\$54.3903	\$163.1709	03/27/2021
3/22/21	MCINTYRE	DETECTIVE	21-8986 ASSAULT	\$36.260	2 2.5	\$54.3903	\$135.9758	03/27/2021
3/22/21	ROULEAU	PATROL	21-8986 ASSAULT	\$45.284	2.5	\$67.9260	\$169.8150	03/27/2021
3/21/21	BELONICK	PATROL	PATROL - MIDS	\$30.587	9 8	\$45.8819	\$367.0548	03/27/2021
3/21/21	DINUNZIO	PATROL	PATROL - DAYS	\$36.260	2 8	\$54.3903	\$435.1224	03/27/2021
3/23/21	DINUNZIO	PATROL	PATROL - DAYS	\$36.260	2 8	\$54.3903	\$435.1224	03/27/2021
3/22/21	SULTAIRE	PATROL	PATROL - DAYS	\$40.820	2 8	\$61.2303	\$489.8424	03/27/2021
3/21/21	D'AUTORIO	PATROL	PATROL - MIDS	\$45.284	8 0	\$67.9260	\$543.4080	03/27/2021
3/22/21	TIEMAN	PATROL	PATROL - MIDS	\$38.102	4 8.5	\$57.1536	\$485.8056	03/27/2021
3/21/21	ROULEAU	PATROL	PATROL - DAYS	\$45.284	8.5	\$67.9260	\$577.3710	03/27/2021
3/22/21	KRZANOWSKI	PATROL	PATROL - DAYS	\$45.284	8.5	\$67.9260	\$577.3710	03/27/2021
3/22/21	BLASIAK	PATROL	PATROL - EVES	\$36.260	2 8	\$54.3903	\$435.1224	03/27/2021
3/22/21	GUIDA	PATROL	PATROL - EVES	\$36.260	2 8	\$54.3903	\$435.1224	03/27/2021

OVEDT	 VALETIA	EAIDI	110
OVER	WEEK		M
OVEIV			

03/27/2021

			Printed 4/6/2021					
DATE	NAME	DIVISION	Assignment Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
3/23/21	KISIEL	PATROL	21-9021 ARREST	\$30.5879	2	\$45.8819	\$91.7637	03/27/2021
3/21/21	KRZANOWSKI	ADMIN	APPLICANT BACKGROUND 20-34339	\$45.2840	3	\$67.9260	\$203.7780	03/27/2021
3/22/21	SIMON	TRAINING	COMM RESOURCE TRNG BLOOMFIELD ON	\$36.2602	9	\$54.3903	\$489.5127	03/27/2021
3/22/21	D'AUTORIO	TRAINING	INSTRUCTOR TRAINING TASER 7	\$45.2840	8	\$67.9260	\$543.4080	03/27/2021
3/23/21	DALLAS	TRAINING	BWC TRAINING	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/23/21	DAVIES	PATROL	PATROL - EVES	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/23/21	JOHNSON B	DETECTIVI	E 21-8986 COURT ASSISTANCE	\$45.2840	1.5	\$67.9260	\$101.8890	03/27/2021
3/23/21	OTIS	AIT	BASIC CRASH AIT TRNG ON RDO	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/23/21	D'AUTORIO	PATROL	PATROL - DAYS	\$45.2840	8	\$67.9260	\$543.4080	03/27/2021
3/23/21	LOUCKS	PATROL	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/22/21	CONNOLLY	TRAINING	TASER 7 TRAINING	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/23/21	LETTIERI	TRAINING	BWC TRAINING ON RDO	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/23/21	BRENNAN	TRAINING	BWC TRAINING ON RDO	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/23/21	CONNOLLY	TRAINING	AXON BODY TRAINING	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/24/21	LOUCKS	PATROL	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/24/21	DINUNZIO	PATROL	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/23/21	CURTIN	PATROL	PATROL - DAYS	\$32.9194	8	\$49.3791	\$395.0328	03/27/2021
3/24/21	CURTIN	PATROL	PATROL - DAYS	\$32.9194	8	\$49.3791	\$395.0328	03/27/2021
3/24/21	TOLEDO	PATROL	21-9201 WARRANT	\$36.2602	2.75	\$54.3903	\$149.5733	03/27/2021
3/26/21	DEGOURSEY	PATROL	21-9299 PROTECTIVE CUSTODY	\$36.2602	1	\$54.3903	\$54.3903	03/27/2021
3/24/21	D'AUTORIO	TRAINING	TASER INSTRUCTOR CLASS	\$45.2840	1	\$67.9260	\$67.9260	03/27/2021
3/23/21	BAROWN	ADMIN	ADMIN DUTIES	\$49.8662	2	\$74.7993	\$149.5986	03/27/2021
3/24/21	BAROWN	ADMIN	ADMIN DUTIES	\$49.8662	1	\$74.7993	\$74.7993	03/27/2021
3/27/21	BAROWN	ADMIN	PATROL - DAYS	\$49.8662	8	\$74.7993	\$598.3944	03/27/2021
3/27/21	BALDIS	PATROL	PATROL - DAYS	\$40.8202	8.5	\$61.2303	\$520.4576	03/27/2021
3/25/21	BALDIS	PATROL	PATROL - EVES	\$40.8202	8.5	\$61.2303	\$520.4576	03/27/2021
3/27/21	BALDIS	PATROL	PATROL - EVES	\$40.8202	8	\$61.2303	\$489.8424	03/27/2021
3/24/21	BALDIS	SUPPORT	TRAFFIC ENFORCEMENT	\$40.8202	4	\$61.2303	\$244.9212	03/27/2021

			OVERTIME WEEK ENDING Printed 4/6/2021	03/27/202	21		Monthly	
DATE	NAME	DIVISION		RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
3/26/21	BALDIS	FINANCIAL	COMPREHENSIVE DUI ENFORCEMENT	\$40.8202	8	\$61.2303	\$489.8424	03/27/2021
3/27/21	BELONICK	PATROL	PATROL - MIDS	\$30.5879	8.5	\$45.8819	\$389.9957	03/27/2021
3/25/21	BLASIAK	TRAINING	AXON TRAINING	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/25/21	DEGOURSEY	PATROL	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/21/21	DELOY	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	03/27/2021
3/22/21	DELOY	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	03/27/2021
3/22/21	DELOY	PATROL	PATROL - EVES	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/23/21	DELOY	PATROL	PATROL - EVES	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/25/21	DELOY	PATROL	PATROL - EVES	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/26/21	DELOY	PATROL	PATROL - EVES	\$36.2602	8.5	\$54.3903	\$462.3176	03/27/2021
3/27/21	DELOY	PATROL	PATROL - EVES	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/25/21	DINUNZIO	PATROL	PATROL - DAYS	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/26/21	FAY	PATROL	PATROL - DAYS	\$32.9194	8	\$49.3791	\$395.0328	03/27/2021
3/26/21	GIORDANO	PATROL	PATROL - MIDS	\$40.8202	1.5	\$61.2303	\$91.8455	03/27/2021
3/27/21	GONZALEZ	PATROL	PATROL - MIDS	\$49.8662	8.5	\$74.7993	\$635.7941	03/27/2021
3/22/21	GONZALEZ	ADMIN	ADMIN DUTIES	\$49.8662	2.5	\$74.7993	\$186.9983	03/27/2021
3/23/21	GONZALEZ	ADMIN	ADMIN DUTIES	\$49.8662	2.5	\$74.7993	\$186.9983	03/27/2021
3/24/21	GONZALEZ	ADMIN	ADMIN DUTIES	\$49.8662	2	\$74.7993	\$149.5986	03/27/2021
3/25/21	GONZALEZ	FINANCIAL	COMPREHENSIVE DUI ENFORCEMENT	\$49.8662	8	\$74.7993	\$598.3944	03/27/2021
3/25/21	GUIDA	PATROL	PATROL - EVES	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/27/21	GUIDA	FINANCIAL	COMPREHENSIVE DUI ENFORCEMENT	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/27/21	GUIDA	PATROL	PATROL - DAYS	\$36.2602	8.5	\$54.3903	\$462.3176	03/27/2021
3/26/21	KISIEL	PATROL	PATROL - DAYS	\$30.5879	8	\$45.8819	\$367.0548	03/27/2021
3/25/21	LETTIERI	TRAINING	USE OF FORCE TRAINING	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/26/21	MAIGA	PATROL	PATROL - DAYS	\$40.8202	8.5	\$61.2303	\$520.4576	03/27/2021
3/26/21	MAIGA	PATROL	PATROL - EVES	\$40.8202	8	\$61.2303	\$489.8424	03/27/2021
3/27/21	MAIGA	PATROL	PATROL - DAYS	\$40.8202	8.5	\$61.2303	\$520.4576	03/27/2021
3/27/21	MAIGA	FINANCIAL	COMPREHENSIVE DUI ENFORCEMENT	\$40.8202	8	\$61.2303	\$489.8424	03/27/2021

<b>OVERTIME</b>	WFFK	<b>ENDING</b>
OAFILLIMIE	AAFFI	LIADIIAO

03/27/2021

			Division American					· ·	,
DATE	NAME	DIVISION	Assignment	Printed 4/6/2021 Printed by Michele	RATE	OT HRS	OT RATE	TOTAL OT	WEEK ENDING
3/25/21	MCINTYRE	TRAINING	USE OF FORCE TR	AINING ON RDO	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/23/21	MRAZIK	AIT	BASIC CRASH AIT	TRNG ON RDO	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/24/21	OTIS	AIT	BASIC CRASH AIT	TRNG ON RDO	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/25/21	OTIS	AIT	BASIC CRASH AIT	TRNG ON RDO	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/27/21	ROULEAU	PATROL	PATROL - EVES		\$45.2840	8.5	\$67.9260	\$577.3710	03/27/2021
3/26/21	ROULEAU	PATROL	PATROL - MIDS		\$45.2840	8.0	\$67.9260	\$543.4080	03/27/2021
3/27/21	SIMON	PATROL	KINDERGARTEN FA	AIR	\$36.2602	1.5	\$54.3903	\$81.5855	03/27/2021
3/26/21	TIEMAN	PATROL	PATROL - EVES		\$38.1024	8	\$57.1536	\$457.2288	3/27/2021
3/27/21	TOLEDO	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/22/21	SEGUI	SERT	CRISIS NEGOTIATIO	ONS TRAINING SRT	\$36.2602	8.5	\$54.3903	\$462.3176	03/27/2021
3/26/21	SEGUI	SERT	COMPREHENSIVE I	DUI ENFORCEMENT	\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/24/21	KELLY	FINANCIAL	COMMUNITY OPIAT	TE OUTREACH	\$40.8202	3	\$61.2303	\$183.6909	03/27/2021
3/22/21	SIMPSON	PATROL	PATROL - DAYS		\$36.2602	8	\$54.3903	\$435.1224	03/27/2021
3/30/21	GELORMINO	DETECTIVE	21-10008 ROBBERY	1	\$38.8644	.50	\$58.2966	\$29.1483	04/03/2021
3/31/21	SOUTHARD	PATROL	PATROL - MIDS		\$41.6366	8	\$62.4549	\$499.6392	04/03/2021
3/30/21	FAULKNER	TRAINING	BLUELINE TRLR TR	RNG WINSTED PD	\$41.6366	9.5	\$62.4549	\$593.3216	04/03/2021
3/30/21	KRZANOWSKI	ADMIN	20-34339 APPLICAN	IT BACKGROUND	\$46.1897	3	\$69.2846	\$207.8537	04/03/2021
3/29/21	KRZANOWSKI	ADMIN	20-34339 APPLICAN	IT BACKGROUND	\$46.1897	3	\$69.2846	\$207.8537	04/03/2021
3/30/21	D'AUTORIO	PATROL	PATROL - DAYS		\$46.1897	8	\$69.2846	\$554.2764	04/03/2021
3/30/21	SIMPSON	PATROL	PATROL - DAYS		\$36.9854	8	\$55.4781	\$443.8248	04/03/2021
3/29/21	DALLAS	PATROL	PATROL - DAYS		\$36.9854	8	\$55.4781	\$443.8248	04/03/2021
3/28/21	DINUNZIO	PATROL	PATROL - EVES		\$36.9854	8	\$55.4781	\$443.8248	04/03/2021
3/28/21	ABALAN	PATROL	PATROL - DAYS		\$34.5859	8.5	\$51.8789	\$440.9702	04/03/2021
3/28/21	GUIDA	PATROL	21-9728 PC		\$36.9854	1	\$55.4781	\$55.4781	04/03/2021
3/29/21	KELLY	PATROL	PATROL - DAYS		\$41.6366	8	\$62.4549	\$499.6392	04/03/2021
3/29/21	D'AUTORIO	PATROL	PATROL - DAYS		\$46.1897	8	\$69.2846	\$554.2764	04/03/2021
3/28/21	GONZALEZ	PATROL	PATROL - MIDS		\$50.8635	8	\$76.2953	\$610.3620	04/03/2021
3/28/21	KRZANOWSKI	PATROL	PATROL - DAYS		\$46.1897	8.5	\$69.2846	\$588.9187	04/03/2021

OVEDTIME	WEEK	ENDING
OVERTIME	VVEEN	ENDING

04/03/2021

				Printed 4/6/2021					
DATE	NAME	DIVISION	Assignment	Printed by Michele	RATE	OT HRS	OT RATI	E TOTAL OT	WEEK ENDING
3/28/21	ROULEAU	PATROL	PATROL - DAYS		\$46.1897	8.5	\$69.2846	\$588.9187	04/03/2021
3/29/21	BAROWN	ADMIN	ADMIN DUTIES		\$50.8635	2	\$76.2953	\$152.5905	04/03/2021
3/30/21	BAROWN	ADMIN	ADMIN DUTIES		\$50.8635	1	\$76.2953	\$76.2953	04/03/2021
3/31/21	BALDIS	SUPPORT	CHIEF MTG WITH	MAYOR / ORDINANCE	\$41.6366	4	\$62.4549	\$249.8196	04/03/2021
3/31/21	CREAN	DETECTIVE	21-9775 RECOVE	RED STOLEN	\$38.8644	2	\$58.2966	\$116.5932	04/03/2021
3/31/21	OTIS	AIT	BASIC CRASH TE	RAINING	\$36.9854	8	\$55.4781	\$443.8248	04/03/2021
3/30/21	BARANOWSKI	DETECTIVE	SNTF		\$36.9854	6	\$55.4781	\$332.8686	04/03/2021
3/28/21	DELOY	PATROL	PATROL - DAYS		\$36.9854	8.5	\$55.4781	\$471.5639	04/03/2021
3/29/21	GONZALEZ	ADMIN	ADMIN DUTIES		\$50.8635	5	\$76.2953	\$381.4763	04/03/2021
3/31/21	ROULEAU	PATROL	21-10		\$46.1897	2.5	\$69.2846	\$173.2114	04/03/2021
3/29/21	ROULEAU	SUPPORT	BACKGROUND C	CHECKS 3 APPLICANTS	\$46.1897	2	\$69.2846	\$138.5691	04/03/2021
3/21/21	SANTIAGO	ADMIN	21-5282 APPLICA	NT BACKGROUND BUZZI	\$36.9854	8	\$55.4781	\$443.8248	04/03/2021
3/30/21	WITYAK	SUPPORT	21-5286 BACKGR	OUND INVESTIGATION	\$41.6366	2	\$62.4549	\$124.9098	04/03/2021
3/24/21	FOLEY	AIT	BASIC CRASH IN	VESTIGATION TRNG	\$36.9854	8	\$55.4781	\$443.8248	04/03/2021
						<b>TOTAL HI</b> 1659.5	RS	<b>TOTAL</b> \$98,343.1702	